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2N

3@
Mz =0l OIS AHIA MB(HAEH)
Cel: 5B HEM 29 (el @2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
02 3524l 23,137 23,137 0
ogtANde=d2 675
-2 2 2 130,000& * 23] 260
- E X2 83,000& = 5CH 415
OF A 20,148
- =4l 9,000
-&JIe= 880,000& = 12& 10,560
-3 49,0008 = 128 588
O Xt XAl 26,000& * 3CH 78
OBE&8= 2,236
-AE8ol = 578,000& * 3CH 1,734
-S23= 251,000& = 204 502
202 04 d| 6,000 6,000 0
01 2L Y] 6,000 6,000 0
OgHAR =X 6,000
206 M = Hl 11,950 11,950 0
01 X2t 11,950 11,950 0
OodietX] MHIJI=HS O 450& * 7,0000H4 3,150
O=2=E3d3 2ZXH M= 2,800
oddg K2 6,000
22AME L HHSA22(EEH) 206,734 174,502 32,232
101 @121l 25,201 19,912 5,289
04 JI2ZtH2Z2XNEE S 25,201 19,912 5,289
OFSANE Z2ZSEAFA 012N
48,240 * 180 8,684
OfIgE H=&g o2 48,2403 * 14L 676
O35 - 240|3t &4 22 o8y
48,2403 * 150 7,236
(@I R=R=:N=] 7,236,000& * 16.44% 1,190
OFEUSstHy 22 o2
48,240 * 132< 6,368
o422z 6,368,000 * 16.44% 1,047
201 L2 | 138,533 136,442 2,091
01 At 2t 2l ] 3,863 1,922 1,941
O35 - 2015 &4a 22| 2,015
-HOES 15,000& * 654 & 975
= = 16,0002 * 654 & 1,040
OFEUIstdH RUFHIAAE XY
154,000& = 128 1,848
02 3524l 134,670 134,520 150
OXt&k s X bl 30,940




SN HAo
Mz =0l OIS AHIA MB(HAEH)
Cel: 5B HEM 29 (el @2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
-AEol 2 3,980,000 = 3CH 11,940
-S3= 9,500,000 = 2CH 19,000
ONSANE S=3H&E4A 9,200
-S32= 525,000& = 12& 6,300
-2 A2l 2,900
O3d MSANE LA ALY 4,200
=323 350,000 = 128 4,200
OJl2g £ dss dMIIR3
5,700,000& = 128 68,400
OsH=EX3 2 A4 Xl 300
OFFH HESS E22=HE 960
-5322= 80,000& = 12& 960
ORI X 22| 4,040
-S323 170,000& = 12& 2,040
-AlE2 SXE224I 500,000& = 404 A 2,000
OAHER X HI 2,800
O3 - 240|13&4 SANE*
50,000& * 654 4 3,250
OFEUIRHH 522 10,080
&= 750,000 = 128 9,000
-—+=E23 40,000& = 12& 480
-&3 - glA 2 (Y 50,0008 * 12& 600
OFEUSStHEH TE LHUES
500,000& = 13| 500
401 Al HI 2L 2 0HHI 25,000 0 25,000
01 Al&H| 25,000 0 25,000
OREE B4 ZAl 20,000
OFFEHAIRA AU ZH(Z2F01AHIE) 5,000
405 Ko SHI 18,000 16,300 1,700
01 A&t = S F SHI 18,000 16,300 1,700
OJYSE (SHOJASAMAHEI}S) 18,000
FOIEOSA XYL (H3AH) 780,000 740,000 40,000
Qe XYL (HEAH) 780,000 740,000 40,000
"2 FO=2AAA(HEH) 780,000 740,000 40,000
401 Al B 2 0HHI 780,000 740,000 40,000
01 Al&H| 780,000 740,000 40,000
O&el ad=224HAX(5m) 30,000
O&E =2 &= d|(100m) 15,000
O/=H Hi£=2 &4l (100m) 15,000
ONE=H =2 ZZ(180m) 25,000
OZE =2 XX (200m) 30,000
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